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Q
PLEASE STATE YOUR NAME AND BUSINESS ADDRESS.

A
My name is Kathryn E. Iverson; 17244 W. Cordova Court; Surprise, Arizona 85387.

Q
ARE YOU THE SAME KATHRYN IVERSON WHO previously FILED answer testimony regarding the interruptible service option credit (“ISOC”) PROGRAM on behalf of the colorado energy consumers?
A
Yes.
Q
what issues are you addressing in your CROSS answer testimony?

A
I am rebutting Larry Y. Shiao testifying on behalf of the Commission Staff (“Staff”) and Dennis J. Senger testifying for the Office of Consumer Counsel (“OCC”).  These witnesses have made recommendations about the credits and tariff provisions of the ISOC program.  The fact that I do not address a specific issue or recommendation made by any of these witnesses should not be interpreted as an endorsement of their position or recommendation.



I am addressing the following issues: (1) correction of the proposed seasonal ratios, (2) use of the summer capacity ratings of the model combustion turbines (“CTs”), (3) the application of a carrying charge to put total costs on an annual basis, and (4) the definition and determination of interruptible load.

SEASONAL RATIOS
Q
STAFF WITNESS LARRY SHIAO PROPOSES TO DO AWAY COMPLETELY WITH THE SEASONAL RATIOS.  OCC WITNESS DENNIS SENGER PROPOSES TO USE THE SEASONAL RATIOS FOR WEIGHTING summer and winter capacity ratings of the model Ct’s.  DO YOU AGREE WITH either of these RECOMMENDATIONs?
A
No.  As I will explain in the next section, the monthly credit should be based on the avoided cost of a summer peaking resource, which in turn is then credited to customers over the course of the year through seasonally adjusted credits.  Thus, the seasonal ratios should be retained, but corrected for a mathematical oversight.
Q
What ARE the CURRENT seasonal ratioS and how ARE THEY applied in the monthly credit rate?

A
Since PSCo’s firm demand charges are seasonally differentiated, the Monthly Credit Rate in the ISOC program is likewise seasonally differentiated.  The intent is to provide a rate that is higher in the four summer months, lower in the eight winter months, and most importantly, still provide the full credit.  For example, if the non-seasonally adjusted capacity cost is, say $5 per month, then the current seasonal ratios of 130% in the summer and 85% in the winter provide the monetary equivalent of 12 months of $5, or $60.00:
(4 months x $5 x 130%)  +  (8 months x $5 x 85%) =

$26   +   $34 = $60, or 12 x $5
Q
WHAT LEVEL OF SEASONAL RATIOS DOES PSCO PROPOSE?
A
PSCo proposes to adjust the seasonal ratios to 115% for the summer months, and 90% in the winter months.
Q
DO YOU SEE A PROBLEM WITH THESE NEW RATIOS?
A
Yes.  My review of this issue prompted by Mr. Shiao’s and Mr. Senger’s testimonies revealed an issue with PSCo’s original proposal.  From a purely mathematical standpoint, the two seasonal ratios proposed by PSCo are not fully equivalent to the total credit.  For example, using the same $5 non-seasonally adjusted credit, the new seasonal ratios would add up to $59 rather than $60:
(4 months x $5 x 115%)  +  (8 months x $5 x 90%) =

$23   +   $36 = $59

Q
DO YOU THINK THIS IS SIMPLY A MATHEMATICAL OVERSIGHT BY THE COMPANY IN ITS DIRECT FILING?
A
Yes.  There should be no controversy about the seasonal ratios; they are intended merely to mimic the relationship between the seasonal firm demand charges, and most importantly, to provide the same amount of credit over the course of a year as the non-seasonally differentiated rate.

Q
HOW CAN THIS MATHEMATICAL OVERSIGHT BE CORRECTED?
A
The seasonal ratios can be corrected by raising either the proposed summer or winter ratio.  Either of the following ratios will result in a full equivalency:

Summer at 120% and Winter at 90%, or

Summer at 115% and Winter at 92.5%
Summer capacity Rating
Q
psco witness Alan taylor uses THE summer capacity ratingS in order to determine the total $/kW cost of the model ct’s.  both the staff and occ, however, use capacity ratings over the course of the year.  do you agree with either the staff or the occ approaches?
A
No.  Staff Witness Shiao performs two completely separate calculations using winter and summer capacity ratings, while OCC Witness Senger uses a weighted capacity based on the Company’s proposed seasonal ratios.  Neither of these methods are correct.
Q
WHY?
A
Interruptions to participating ISOC customers either provide needed capacity for the system or reduce energy costs.  The times when PSCo will most likely need the capacity, and the times when the system is liable to incur the highest energy costs, will be during the summer months.  PSCo is a summer peaking system and it is during those times that it is most likely to need a CT, or the interruptible resources of the ISOC participants.  Consequently, the credit paid to participants in the ISOC program should reflect this basic principle.
Q
occ witness senger argues that use of the summer capacity “fails to account for the value that a ct would provide year-round”.  Do you agree?
A
No.  It’s true a CT may provide value year-round – for that matter, an interruptible customer may also provide value year round.  However, the fundamental reasons for the Company’s need for additional peaking resources, and consequently for interruptible resources to avoid such peaking resources, are the expected summer peak demands and the expensive price of energy in the summer months.  Thus, Mr. Taylor’s use of the summer ratings is appropriate.  Adopting a year round calculation will lower the interruptible credit.  As a result, interruptible customers on the margin who could provide substantial benefits to the PSCo system during the key summer months might elect not to participate.  This is clearly inconsistent with the Commission’s objective to maximize the participation in the interruptible program to help meet anticipated summer capacity shortfalls in the upcoming years.
Carrying charge
Q
why is a carrying charge necessary in the derivation of the monthly credit?

A
The total investment cost of the model CTs must be adjusted by a carrying charge in order to put the total costs on an annual basis.  The Company has proposed to use a nominally levelized rate of 14.89%.
Q
occ witness SENGer criticizes the company’s use of a nominally levelized carrying charge.  do you agree with his assertion that a real levelized carrying charge should be used instead?

A
No.
Q
WHAT IS A REAL LEVELIZED CARRYING CHARGE AND HOW DOES IT DIFFER FROM A NOMINALLY LEVELIZED CHARGE?
A
As I explained in my Answer Testimony, a capital investment such as a combustion turbine must be adjusted by a carrying charge in order to put the total costs on an annual basis.  There are three typical types of carrying charges:  traditional revenue requirement, real levelized carrying cost (“RLCC”), and nominally levelized carrying cost (“NLCC”).  Whereas a traditional regulatory carrying charge is high in the initial years (because the investment is undepreciated), and declines over time as the investment depreciates, RLCC has just the opposite characteristic as it starts out low and gradually increases over time (typically at the rate of inflation).  Importantly, all three types of carrying cost options have an identical net present value over the assumed life of the investment, or as economists say, the three streams are equivalent on a net present value basis.  However, that equivalency only happens if the NLCC is kept at its constant level, the traditional revenue requirement declines with depreciation, and the RLCC is allowed to rise each year at the necessary escalator.  If any of the carrying charge parameters are changed before the end of the investment’s life, the streams are no longer equivalent to each other.  The following graph illustrates these three types of carrying costs over the 30-year life of the investment:
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Q
WHY DO YOU AGREE WITH THE COMPANY THAT A NOMINALLY LEVELIZED CARRYING COST SHOULD BE USED?
A
Mr. Senger’s argument for using a RLCC is that interruptible credits will likely be reset every three years reflecting higher value capacity costs.  He bases this 3-year cycle on the fact that it has been three years since the Company has last updated the credit.  The end result of Mr. Senger’s approach would be to lower the credit to interruptible customers today, such that they could experience potential increases every three years in the future, in order to remain economically indifferent to the Company’s NLCC method.
  


There are several problems with this approach.  First, there is no guarantee that credits will be reset every three years.  Without an explicit reset every three years, Mr. Senger’s example is no longer economically equivalent and interruptible customers would be systematically underpaid.  Second, the unspoken assumption of Mr. Senger’s approach is that value of the avoided resource – and thus the interruptible credit -- must remain capped at the $127.1 million net present value over the 30 year life.  But this assumption is unrealistic.  As peaking resources become ever more costly in the future, interruptible resources should likewise be valued at higher levels.  Third, a RLCC would unnecessarily penalize interruptible customers through a lower credit.  As I explained in my Answer Testimony, had the Company actually constructed a peaking resource and placed it in ratebase, it would come in at the much higher traditional revenue requirement in the initial years because the investment is undepreciated.  The NLCC method as proposed by the Company more closely matches the actual revenue requirement of the avoided capacity, and better recognizes the long-term benefits of the interruptible resource.  Consequently, the NLCC should be retained in the development of the interruptible credits.
interruptible demand definition
Q
Both the staff and the occ recommend that the definition of the INTERRUPTIBLE demand be revised from the company’s.  do you agree with either of their recommendations?

A
No.  Staff Witness Shiao recommends that the interruptible demand be based on energy used during the month, while OCC Witness Senger recommends that the interruptible demand be based on an average of hourly peak demands during the month.  Neither of these approaches should be adopted by the Commission.
Q
HOW IS THE INTERRUPTIBLE DEMAND USED FOR PURPOSES OF ESTABLISHING THE CREDIT PAYMENTS TO THE ISOC PARTICIPANTS?

A
The Monthly Credit Rate is multiplied by the lesser of a participant’s two loads: the Contract Interruptible Load (“CIL”) and the Interruptible Demand.  The CIL is based on prior summer weekday peak history and thus sets the maximum monthly interruptible demand level to which the Monthly Credit Rate is applied.


Conversely, the Interruptible Demand reflects the actual load as metered each month.  It is based on the maximum demand used during the peak hours of the month, less any Contract Firm Demand.  Consequently, even if the Interruptible Demand is greater than the CIL, the Interruptible Demand is not used for purposes of crediting ISOC participants as it is the lesser of the CIL and Interruptible Demand which is used for the Monthly Credit.
Q
STAFF RECOMMENDS THAT THE INTERRUPTIBLE DEMAND BE BASED ON AVERAGE KILOWATT DEMAND FOR THE BILLING MONTH.  IS THIS REASONABLE?

A
No.  The average kilowatt demand for the billing month is the total energy consumed in a month divided by the total number of hours in the month.  Consequently, the Staff’s method would use energy consumption levels during off-peak hours for the Monthly Credit.  The use of off-peak load information is not the appropriate measurement of the potential load available for interruptible during on-peak hours.

Q
WHAT WOULD BE THE IMPACT ON CURRENT ISOC PARTICIPANTS FROM THE STAFF’S RECOMMENDATION?

A
Although Staff claims to have examined the effect of their proposal on the current ISOC program participants, Exhibit ___ (LYS-8) is incomplete as it compares only the average kW to the CIL, with no corresponding look at the Interruptible Demand loads as currently defined.  Staff’s recommendation would likely significantly reduce credits paid to current participating customers.  In fact, Exhibit ___ (LYS-8) shows that only a single ISOC participant out of the 18, has a monthly average kW greater than its CIL in the four months analyzed.  Thus, only a single ISOC customer would be able to count on using its CIL as the basis for its Monthly Credit.  Additionally, 13 of the 18 customers have average kW levels consistently lower than their CILs in all four months.  As a result, the impact on current ISOC participants could be a significant reduction in their credits.  This would, in turn, potentially cause existing customers to determine that credits paid do not cover the inherent costs of participating.
Q
HOW DOES THE OCC PROPOSE TO CHANGE THE DEFINITION OF INTERRUPTIBLE DEMAND?
A
The OCC recommends the measurement be changed from the “maximum” of the monthly on-peak demands to an “average”.  It also calls for the exclusion of days when an interruption is called.

Q
SHOULD OCC’S RECOMMENDED LANGUAGE BE ADOPTED?

A
No.  The use of an “average” of hourly demands would fail to capture the full value of the capacity provided by interruptible load.  The value of interruptible service is not only based on whatever capacity may be interrupted at the time of the interruption; the value is also based on interruptible customers remaining off the system until notified.  Thus, any and all capacity that would have otherwise been used by the interruptible customers can be curtailed whenever it is needed.



The CIL properly reflects the ceiling on how much the interruptible customer could be anticipated to use absent an interruption.  The Interruptible Demand based on a maximum peak-hour demand provides a “backstop” to ensure that actual maximum demands are no greater than the CIL.  Thus, the current method of using a “maximum” monthly peak-hour demand should continue to be applied in the ISOC tariff.
Q
DOES THIS CONCLUDE YOUR CROSS ANSWER TESTIMONY?
A
Yes.
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� Both of these would be equivalent to 12 months of the non-seasonally differentiated rate:  (120% x 4) + (90% x 8) = 12;  or alternatively, (115% x 4) + (92.5% x 8) = 12.


� This is shown on Exhibit ___ (DJS-4), page 1 of 2 where “NLCC w/no adjustments” is shown to be economically equivalent to the “RLCC w/3 year adjustment”.
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